MARKING SCHEME FORM TWO  PHYSICS
1.  Sleeve scale reading = 2.50mm			2.50mm
Thimble scale reading = 6 x 0.01                                  + 0.06
                                                                                              2.56mm
							+ 0.01 √
                                                                                            2.57 mm
Thickness of each slip  = 2.57mm
			       10
			= 0.257mm √	

2.
[image: E:\EPSCAN\001\EPSON008.JPG]
3. 36N x 0.2 = w x 0.3
7.2    = 0.3W
0.3       0.3√
W = 72   = 24N√
                      3
4. 
[image: E:\EPSCAN\001\EPSON008.JPG]

5. a) The liquid level in A is lower than in B. √
b) The larger cross section area results to lower velocity, thus high pressure whereas smaller cross section area results is higher .  Velocity thus lower pressure hence atmospheric pressure acts more in B than A resulting√ to higher level in B than A.


6.  Geometric optics. √

7. i) Decreasing impurities √
ii) Lowering the temperature of water √

8.  It rises due to contraction of the flask later the water contracted leading to the fall.

9. Current, I = charge Q    √
		Time + (sec)
                       = 300c √
                          2.5 x 60
		= 24 √


10.										
[image: E:\EPSCAN\001\EPSON009.JPG]

11.The wax on thick rod melts fast √ than the wax on the thin rod.  The rate of heat flow increases with increase in cross sectional area. √


12.

[image: E:\EPSCAN\001\EPSON010.JPG]

SECTION TWO
13 a) It states that for a helical spring or any elastic material stretching force is directly proportional to the extension provided the elastic limit is not exceeded.

B i) gradient/slope = (1.0 – 0.5)N  √
(0.4 – 0.2 )m
                                     = 0.5  √
                                        0.2
Spring  constant = 2.5N/m √

ii) 1.5N √
c) Extension = Force
                           2k
                      = 60N       + 60 √
                       2 x 150        150
	       = 0.2m + 0.4m √
	      = 0.6m  or 60cm √
d) i) diameter of the spring √
ii) Thickness of wire   -      √        Any two 
iii) Length of the spring √

14 a i) Amplitude = 30cm √
ii) Wavelength = 60cm  or 0.6m √
iii) Frequency = Velocity
                           Wavelength (X)
		= 330m/s  √
                             0.6
		= 550 Hz √

b) i) Period of the drum beat = 18.5 seconds 
				    20 √
                          Time of echo = 0.925 seconds √
ii) Distance = 150m x 2
	       = 300m.√
   Time = 0.925 seconds
Speed = 300m √
             0.925 
             = 324m/s√
Iii)On a colder day, air particles are denser and their kinetic energy is low, hence speed of sound in air is expected to be very low on cold day than on hot days. √

15. i) Oil is less dense√ than water hence it floats on the water surface
ii) Oil is immisible with  √ water/It does not mix with water.

b) The oil breaks the surface tension of water √ the stronger surface tension on the sides pulls away the particles of oil to form a circular patch.√

C i) To enhance clear visibility of the boundary of the oil patch.√
Or Clearly show the extend of spread of the oil patch on the water surface. √

ii)  - The oil drop is a (perfect) sphere/drop is spherical √
· The oil patch is monolayer √
· The oil patch is a (perfect) circle/patch is circular.√

d)  Volume of oil drop = Volume of patch
3.0 x 10-6 x 106 = 3.142 x 0.16x 0.16 x t √
T = 3.0 x 10-6  x 10o  √
      8.04 35 x 102
= 3.7297 x 10-5m √

16. 	It states that the pressure applied at one point of a fluid is equally transmitted to all other parts of the enclosed system √

b) F1 = F2
    A1    A2
M   = 		50N
0.25m2              5.0 x 10-4  m2 √
50N x 0.25 = 5.0x 10-4M
5.0 X 10-4       5.0 X 10-4 
M= 12.5 X 100
    5.0 X 10-4 √
= 2.5 X 104n
= 25000N√

c) Pg = Pa +hfg
= 100000N/m2 + 80 x 13600 x 10 √
                           100
= 100 000N/m2  + 108 800N/m2 √
= 208,800N/m2√

d) i) Leakages at values and pistons √
ii) Cannot raise water above barometric height (above 10m) √

e)  Many wheels increases area of contact with the ground hence reducing pressure exerted on the road.√

17. a i) used to focus/concentrate converge the light to the smoke cell.√
ii) The bright specks are observed moving randomly in the smoke cell. √
iii) They move randomly due to continuous collision with invisible air particles which are in continuous random motion√
iv) The particles vibrate more vigorously due to increased kinetic energy.√

b i) Diffusion takes place the particles of the gas spread from the bottle (high concentration) to all other areas of low concentration)√

ii) Density of the gas √
· Temperature √
· Size of the molecules √

18 a) A1 V1 = A2 V2 √
30 X 400 = A2  x 750 √
  750                750

A2  = 16cm2  or 1.6 x 10-4 m2√

b) – Flows steadily √
- Non – Viscous √
- Should be Incompressible  √
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